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I jlg l NUMBER SERIES

In a number series, the number changes in 26 105 524 (37d%
accordance with certain specify rule/order. Read = Q/

the series given in the questions carefully and 8ol UUUUU

find out which rule/order the series is following. *2 41 x3-1 x4+3 x5-1 xG+1

Questions based on number series are mainly w D24 x6+1=3144 44 = W45

of two types:- ; Ans. (g
1. Type A - In this type of questions, a place I11.8eries of 8q cubes: |, th

series of ghuaNgg/and Cubes, the

is left blank or is replaced by a question
number iy a sgries increases o,

mark.
2. Type B - In the this type of questions, a dcc:reases Elllres or cubes apqg
number which must come at a certain which genera Y near to certai
squar

place is replaced by a wrong number. We
have to decide which of the alternatives Ex. 1.
given will come in the place of the wrong 56 (3) 57 (4; 58 (5) 60

number.
Type-A 7 ‘ -
Some important rules of the questions asked SOL U

in this type of number series: 22 437 +4 +6?
I. Arithmetic zseriea :- In arithmetic @ 32 +5 =32+ 25 =57 Ans (3'
series the number in two continuo '
series increase or decrease in adelin - 1. 1,8,27,64,125,?
order. For example- (1} 216 (2) 150 (3) 169
Ex. 1. 14, 21,629, 38,48, 59,7 . {4) 196 (5) 225
(1)69 (279 (3) 81 (4] 3, (5) 71 1 8 27 64 126 {396
G Sol. T
14 21 29 38 48 A H +|= 213 éa is és 6°
Sol.
+7 +8 +9 +1 6 =216 ) Ans, ll,
IV. Miscellaneous Number Series: In the
Ans. (5) ) h
type of miscellaneous number senes,
Ex.2. 34,18,10,6 the series of numbers can be different.
(1)6 (2) 1 42 (53 In this number series, numbers can
increase/decrease by addition,
subtraction, multiplication, division,
Sol. arithmetic/geometric progression et
For example-
l ten: 1 Ans. (5) px, 1. 15, 30, 60, 120,?
Geometric series: In geometries 1) 250 2) 245 3) 240
ries, the next number is obtained by (1) 2) G
(4) 250 (S) 260

either multiplying or dividing the last

one by a definite number. In this type g, 15 30 60 120 240>

of series there are certain addition/ UUU ¥

substraction done along with some U

division or multiplication. 2 = w2 =2
Ex. 1. 4,9, 26, 105, 524,7 120 x 2 = 240

Ex. 2. 120, 60, 30, 15,7
(1) 1524 (2) 3032 (3) 3144 s
(4) 3145 (5) 3154 (1}7 (27.5 (3) 30 (4)5.7 (58

Ans. (3
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e

W Sérieg giv b
sol. UU UU 2, 8,12, 2?: 3::"?4.75

1)2 s RB134.5 421 (5) 54.75

- 15+ 2=17.5 Ans, (2)
4,15,7,23,11,29, 16, 337 @&
m 30 5! ¥ » » 6}
(1122 (211 (334 (429 (5)32 Sol. 2 8 42 oy

34.5 54.7
+10 +8 +6  +4 U 7,
sol. YT YT YT N 4 s6 w0 435 2805
54 15 7 2311 29 16 33{3% U U
M"

+3 44 45  +p *15 x15 x15

Ans, (1) So, 6 will be
Ex. 4. 813,17,14,19,23,2 Ans. (2)
(1322 (2)24 (3)25 (4)20 (5)18
i Exercise:
* VRIS ART 5
+5 +4 -3 +5 +4 \Ej Q
Ans, (4
Ea. 5. 4, 10,7, 82, 244, 730 R , - A
1)86 (2)24 (3)21 (2) 13 (3) 14
M ) (3) 218 B 77 (528 Q‘) (5) None of these
Sol. 4 10 23 82 244 730 2% T, 9, 17, 33, 49, 73,7
\N NI N R @98 (399
(%3-2) (x3-2) (x3-2) (x3-2) (x3-2) (4) 100 (5} None of these
\ 3. 5,9,17,29,45,?
10, 17, 26, 37, 50,? (1)67% ‘ ‘? 35 ] 1(]3) 68
(167 (2)50 (3)65 (4 {5) 37 4) {5) None of these
4. 1,6, 15,?, 45, 66,91
Sol. 10, 17, 28, 37, ¢ (1) 25 (2) 26 (3) 27
3’11 4*11 5’11 e=11 (4) 28 {5) None of these
3,7, 15, 31, 63,?
y: (1) 92 (2) 115 (3) 127
Some important ¢ {4) 131 {5) None of these
questions: " 1,2,3,5,8,?
Ex. 1. Which fQ¥gpkr is unappropriate in the ()9 () 11 313
seriegl gitein below? SI N
” 26, 160, 200, 248, 298 (4) 15 (5} None of these
1?& (2) 160 (3) 200 azl, 20, 142,72 oL
4) 248 (5) 98 3 7 11
. S
{246} (1) 14 @55 @ sy
8o,

. g ®
98 126 160 200 248 298

ARSI o ooncorinee

+22 +28. +34 +40 +46 +52 8. 8,15, 28,532

S0, 246 will be at the place of 248. {1) 106 (2) 98 (3) 100
Ans. {4) {4) 102 (5) None of these
Ex, 2, Which numbes is unappropriate in the
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9.

10,

I1.

12,

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.
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-1,0,5,8,17, 24, 37,7

(1) 40 (2) 43 (3} 46
(4) 48 {5) None of these
87,90, 84, 88, 81,72,?

(1) 85,93 (2) 86,98  (3) 86,78
(4) 86,68 (5) None of these
118, 182, 186, 222,?

(1) 318 (2) 266 (3) 258
(4) 226 (3) None of these
3,7,.23,95,?

{1) 575 (2)479 (3) 128
(4) 62 (5) None of these
3,28,4,65,5,126,6,?

(1) 215 (2) 216 (3) 217
(4) 218 (5} None of these
3691, 6931, 9361, 3691,?

(1) 1369 (2) 6931 (3) 1963
(4) 3961 (S} None of these

81, 192, 375,?, 1029

(1) 684 (2) 486 (3) 648

(4) 468 (S) None of these )
1,2,6, 33,49, 174, 2107 [{;/ 30.
{1) 553 (2) 259 (3} 426 v

(S) None of the§€,

(4) 274

1,5, 11, 49, 239,? }m

(1) 429 (2)956 A, (31441

(4) 1427 (5) Non ese

1, 4, 15, 64, 325, ? 4

(1) 1630 ]

(4) 1950

1, 16, 44

(1)4141%' 2) 418 (3) 408

(414 (5) None of these
? 651

(1 (2) 127 (3) 129

(4) 109 (5) None of these

1,30, 136,417,?, 829

(1) 856 (2) 828 (3) 834

{4) 838 (5) None of these

2,4,11, 37,°2,771

(13115 (2) 148 (3) 152
.4)118 (5) None of these

23.

24,

25.

26.

27.

28.

31.

32.

33.

34.

35.

36.
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29 6,7, 30,90, 315

h‘:w

2,9,30, 105,72, 2195

(1) 432 (2) 426 (3) 440
(4} 436 (S) None of these

2, 40, 180, 552,72, 1112

(11110 (2) 1010 (3) 1004
(4) 1080 (5) None of these{*}
3,4,12,45,196,? ,:E*-

(1) 800 (2)1004 F mg%
(4) 955 (5) None,oﬂ.besg

3,4,12,45,7 1005 ““ ‘?‘

(1) 152 ﬁl%ﬂ" (3) 144
(4) 192 8), Ndhe of thesc
3,4, 16, 75,864,7

ez &7, 19) 1293 (3) 1945

(4), 8@‘}, “h45) None of these
4, 2@,;:. B

(2) 15 (3)6
(5) None of these

()9 (2} 12 (3) 15
(4) 8 (3) None of these
5,7,4,7.5,17, 45

(1) 3.5 {2) 3 (3) 2.5
(4) 2 (3) None of these
6,9, 18, 45,7

(1) 135 (2) 99 (3) 115
(4) 138 (5) None of these
6,9, 11.25, 22,50, 26.50,?

(1) 44.50 {2)66.25  (3)70.25
{4) 45 (5) None of these
7,8, 18, 66,7, 1038

(1) 928 (2) 686 (3)430
(4) 324 (5) None of these

10, 11, 18, 38, 97.5, 295.5,?

(1) 796 (2) 1186  (3)889.5
(4) 1037.75  (5) None of these

14, 10,28, 17, 49,?

(1) 21 (28 (310
(4) 19 (5) None of these

15, 30,7, 40, 8, 48

(1) 10 (2) 20 {3) 20
(4) 10 (S) None of these




37.

38.

39.

40.

4},

42,

43.

44.

45.

46.

47,

48,

49,

E& e ——— e —
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64, 36, 22, 15,2,9.75
(1) 11.75 (2) 12.5 (3)11.5 L2

Prim .

(4) 12.25 {5) None of these 2 1 ¢ number series 2, 3, 5,7, 11, 13,17
81,41, 42, 64.5,2, 330 L R A o

9 73 g7
(1) 131 (21185 (3} 129 N 7
(4) 105.5 (S) None of these +8 \_‘3&{%\2{\;}
114, 115, 107, 134, 70,? © 73+24-97
(1) 140 (2) 35 @3) 195 @?Z,
(4) 150 {S) None of these 3.

- AR 2

+8  +12 +16 *20

45+ 20 = esf Q;

2807, 1400, 697, 347, 171, 84,41, 20 4. 4; 4 6
(1) 697 (2) 347 (3} 371 O :
SV G,

£ 313 +17  +21  +2§
828, 412, 204, 100, 48, 24, 9 s

(1) 100 (2) 48 (3) 24 T ANY
(4) 412 {5) 204 5. 3 3"%%»}7 15 27}
496, 242, 116, 54, 24, 8, 4 % UUU
:1; ?16 g) 24 (3) 54 2+1](x2+1)(x2+1){u2+1)(X2+1)
4) 116 )24 f& 63x2+1 = 127
324,192,92,46.16,4,2 1+2=32+3=5, 5+3=8,B+5=13
(14 (2) 16 (3) 46 {f\ .
(4) 92 (5) 192 g 100 100 100 wcr 100
24, 36, 81, 180, 540, 1890, 7560 &= 3757779
(1) 540 (2) 1890 (3 6 W}Z; e
{4) 81 (5)180 *g
16, 4, 2, 1.5, 1.75, 1875 8 4 8 15 28 53 {i0%
(1) 1.875 (2) 1.75 ) 1.5 UUUU
{4} 2 (5) 495 x2-1 x2-2 x2-3 x2-4
7,4, 6, 9, 20, 52. ,
. 5 8 17 2

(1) 52.5 (3) 20 % % l1 ? [ f 3,17 4'8
@) 4 (0OFY (171 (2°1 (3P (4F1 (5P (6F1 (7}
7,9, 16 2@ 8, 107, 173
’ » » ) ) r _2 -2
(1) 25 (2) 68 (3) 41 10. 3; — 3 3
(4l (5) 107 g7 0 g © 4|00 &

1%/ 45, 183, 925, 5556 3 -3 -3

{2) 183 (3) 45 .
4 %4 (5) 6 L4 18 R 188 2 R
3,2,3,6,12,37.5,115.5 +H8Y +2)® (*6) T (+2) *
(1) 12 2) 2 (3)6 . .
+ + .
43 (5) 37.5 —
3,3, 4, 45 . 7 23 95 [478
0 2365, 9, 27, 67.5, 236.25, 9 122, 3 B % 5
a7 .25 (2)4.5 {3) 2 x2+1 =342 " x4+3  x5+4
(5) 67.5
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3%t d+t 5+
x1+7 x2+12 x3+15 x4+1g

14. 2 391 6931 9361 3691 Bosil | x5415
au gpeon e =
234 23td 3134 1234 2314 A s 'u
R T R LR TR 1;0 s ’%ﬁ‘%
(@F- (0 (141~ (2 (20)- (5)° (27)- (9)' (35)°- (14)° ¢

~ >d Y >.d >< )4 >< >< Vol x5+30 x4+20 g2+6 ™
35 <2 +6 +3 +7 +4 +8 +5 | J 2
e -10 £ )

33 49 174 210 .5533'

UUUUUUU e

g

P 2 +3 o 45 45 4T © b‘ x3+3° x444° x545°
1T & 49 239 14-:1" %’ 1196
R UU 26. 4 12 45 21960 1005
x3+5 x5.6 .sq x1+1= x2+2' x3+3 %444’ x5+57

TN 364 1945 }

UUJJ e AN T TS

n2+2 a3+ x3+4 x5+5 x§+6 x1+1 x2+2° x3+3° x4+4° x5:5°

o

28. 2,

19.1; UDUU Frogi Uk’aj}sj EJE{

+15 +28 +54 +1 2

UU 29. 2. 6 {12 315
AN AN

x185 x2 x25 x3 x35

45

1@' Ry A

x2. 5+2.5
< 373 ’3+4 x4+5 154-6 x0.5+0.5 x1+1 x1.5+1.5 x2+2

31.1; {135}

21.4; 1\-}30 1@@3.039 UUU u

x15 x2 x2 5 =3

%5457 xq+4® x3+F x242% x1e+1? 2
@.25.-’

25 2 4 o3y {5 322, 6 9 1125 22.5U5U
ks 2
U UUU Esjhgf)\x—zj +(2)- x2.5

xy+2 32'.‘3 13-}4 x4+5 -5"'6
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33.4 66 f;zq‘: 1938

AT IS R A USRS

x2.8 x3-6 x4-6 x5-6 *xG-6 w0506 %141 w1BHS =Ii2 r2 G125
344 39.1

875 2955 037, 7'5-} 40, 2;

AN o

2807 1400 697 {347) 171 ';@1 20
x1+1 x£.5+1.5 x2+42 25425 x3+3 x3543 5 2 <vO 1AW ¥4 AN
10 28 17 { 27 5‘. ) '
> U\JU UU '

x5+3 %32 x5+3 x32 x.54+3

3.1, 15 30 {o} 40 8 a8 N\ = 0.6 A4x0 6
UUUUU 5 .5eax05 4x05 -4
x 2 x -:li- x 4 X _;_ x 6 . .

......

......
"""""

37.3; Y18 975 U
uuuwu ,@&m UUU .

175 47.2 48.2 49. 1 50.4

Q,/G
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